ECE 370
HW SET #3


1. A half-wave diode rectifier has a supply voltage of 120 V, 60 Hz, and a load resistance of 10 Ω. Calculate: 
a. Vdc
b. Idc
c. Vrms
d. Irms
e. Peak inverse (blocking) voltage of the diode
f. Ripple factor r
g. Source apparent power
h. Load real power



2. A full-wave diode bridge rectifier has a supply voltage of 120 V, 60 Hz, and a load resistance of 10 Ω. Calculate: 
a. Vdc
b. Idc
c. Vrms
d. Irms
e. Peak inverse (blocking) voltage of the diode
f. Ripple factor r
g. Source apparent power
h. [bookmark: _GoBack]Load real power
